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gus - 31 / SECTION A
aEdf@ss 9 /Objective Type Questions

g T&AT 1 F 70 T & Ucdeh U & I IR faheq fov a0 §, o @
T HET &1 39 SaRT g1 a0 FEI fdehed I OMR e R R &
fheer 35 Teal &I 3 &l

Question Nos. 1 to 70 have four options, out of which only one is
correct. You have to mark your selected option, on the OMR-Sheet.

Answer any 35 questions.

1. St Tl Fusell # &Ry 0.1s & 5A & 2 A #H gRafdd gidr § ar 50V &
ANET oSt 3cUea gIdT g1 FUSell FT TIWhcd ¢

(A) 1.67 g1
(B) 6 &I
(C) 3 &=
(D) 0.67 &=4r




When current in a coil changes from 5A to 2A in 0.1s then average
voltage of 50V is produced. The self-inductance of the coil is

(A) 1.67 henry
(B) 6 henry:
(C) 3 henry
(D) 0.67 henry

2. gfadae aifdemrat & rguron fhas garT & S o ?
(A) Shetel

(B) FHFwad

(C) grard

(D) =ge-

The concept of secondary wavelets was given by
(A) Fresnel

(B) Maxwell

(C) Huygens

(D) Newton

3. BIaIsAfFes gHg H yehrer faggd URT Fadd §
(A) 3mafad weprer &1 dgar I

(B) &l So/aeIal & &g P I fasTaeaR &

(C) 3cHsieh Yary &I epfd &

(D) 3TIfie Wehrer & 3Mgha &



In photoelectric effect, the photoelectric current is independent of
(A) intensity of incident light

(B) potential difference applied between two electrodes

(C) the nature of emitter material

(D) frequency of incident light

4. T TIaeH & W # g 31f¥0e qaeced gar g ?
(A) ST T
(B) drem T
(C) e =1
(D) Sl

In visible spectrum, which colour has larger wavelength ?
(A) Red

(B) Yellow

(C) Blue

(D) Violet

5. fondll 9XATI] T ATHE FAT BT &
(A) Srele |

(B) WIeieT Ud Folaclad &

(C) 3TcWT HUT &

(D) shele 3R =gl &



The nucleus of any atom is made up of
(A) proton

(B) proton and electron
(C) a-particle

(D) proton and neutron

6. Sae UTRAT JFd JcATdl URT IRYY H URT Td dleedl & T FHelleck
giar &

(A) 0°

(B) 90°
(C) 180°
(D) 45°

The phase-difference between current and voltage in only capacitive
alternating current circuit is

(A) 0°
(B) 90°
(C) 180°
(D) 45°

7. efaf@d 7§ ¥ 50 dega grah RAfeor & aeeed =gead § 2
(A) TRTSTEAT

(B) TFg-faor

(C) g&#H awn

(D) 9mAT faor



Which one of the following electromagnetic radiations has minimum
wavelength ?

(A) Ultraviolet
(B) X-rays
(C) Microwaves

(D) y-rays

8. 25 I GfA3meam AT §
(A) (1100);
(B) (1001),
(C) (11001),
(D) (11101),

The binary equivalent of 25 is
(A) (1100).
(B) (1001);
(C) (11001),
(D) (11101),

9. ade- fkat &r =iss afasor- et
(A) & FATT BT &

(B) & WATT &l Il &

(C) St g &

(D) 3oTH & HIS G



The width of diffraction fringes is .......... to the width of interference
fringes.

(A) equal
(B) unequal
(C) similar

(D) none of these

10. WehIeT ¥ T AT S 8T gl
(A) 9.46 x 10" m
(B) 9.46 x 10" m
(C) 9.46 x 10® m
(D) 9.46 x 10" m

Light year is equal to
(A) 9.46 x 10 m
(B) 9.46 x 10 m
(C) 9.46 x 108 m
(D) 9.46 x 10" m

1. Ste R UHIeX Y oe foRar ST &, a9 9R9Y &1 Fel gfcaRy
(A) ST &

(B) TeaT &

(C) R @ &

(D) ST & IS EI



If any ammeter is shunted, then the total resistance of the circuit
A) increases

C

(A)

(B) decreases

(C) remains same
)

(D) none of these

12. fohdl 31éEreereh &l ATYHTST I[UTih &1 HeT §icl &
(A) YdlcHR

(B) =RUTcHA®

(C) T

(D) 3elod

The temperature coefficient of a semi-conductor is
(A) positive

(B) Negative]

(C) Zero

(D) Infinity

13. Ife TTEFaIglT # TATAT T I 3Taddlel T dAT FAGAH arel V gr ar
A) T « V

(B) T « V2

(C) T « 1V

(D) T o 1/V?



If T is time period and V is maximum speed of a charged particle in
cyclotron, then

14, @t & 716 SAfeT v O faggd wifas gfFa §, w8 scuet giar §
(A) hdel 3TT GRT

(B) hadl 3T dlecal
(C) 3= URT U4 3Td dleco
(D) %=1 oRT va faeT atecs

Van de Graaff generator is an electrostatic machine which produces
(A) Only high current

(B) Only high voltage

(C) High current and high voltage

(D) Low current and low voltage

15. WrdeFdlish @ S.|. AH BT &
(A) N C' m?

(B) NC? m?

(C) NC? m?

(D) C?> N™' m™



S.I. unit of permittivity is
(A) NT C' m?

(B) NC? m?

(C) NC? m?

(D) C* N" m™

16. IMARIT FUIRT T Fel AU I &
(A) =T
(B)1pucC
(C)1C
(D) 3t=id

The net charge on a charged capacitor is
(A) zero

(B) 1 uC

(C)1C

(D) infinite

17. Tl & 31eY Solacidl I Ifd aiar gl
(A) FFET

(B) caRka

(C) 3mqaRkd

(D) 3raAfed



The motion of electron inside the conductor is
(A) Uniform
(B) Accelerated
(C) Drifting

(

D) Decelerated

)
)
)
)

18. ag # &ud &R goh1$ 4T 3Mae & Aeholaiarell FoquT faegd Forarg &
AT Bl &

(A) €o

(B) (€0)”
(C) 4ne
(D) (4meo)!

The total electric flux coming out from stationary unit positive charge in
air is

(A) €o

(B) (€o)”

(C) 4meo

(D) (4meo)?

19. 9fd SIS AU I FIaTe gof I Fed o
(A) faegd varg
(B) faegd fasta
(C) faegd &
(D) faega ¥a



The force, acting on per unit charge is called
(A) Electric current

(B) Electric potential

(C) Electric field

(D) Electric space

20. 3MaYr & gRATOfRT gaffar § fr

(A) 37T, ST Th Solaclied U TAA FT Th 37U &, HT el ¢
(B) Weh HTAA &I ASC oTgl Tohdl ST Tehdll g

(C) Uil 9 3M1aer giar gl

(D) Teh HOT W 7GIdH HTAY TG gl &

Quantisation of charge indicates that

(A) Charge, which is a fraction of charge on an electron, is not possible
(B) A charge cannot be destroyed

(C) Charge exists on particles

(D) There exists a minimum permissible charge on a particle

21. fega & Wit & Sieer ured gl g
(A) & Fr erfea

(B) fe=m

(C) 3maer #r ypfa

(D) 3T & el



Electric field lines provide information about
A) field strength

(A)

(B) direction

(C) nature of charge
)

(D) all of these

22. fA%e &

() Fepgraa

(B) FfrgFaehr
(C) <ig Frerhra
(D) 318 & FIg LT

Nickel is

(A) Paramagnetic
(B Diamagnetic
(C) Ferromagnetic

(D) None of these

23. YFEHIY AR Ta sflanforeh AR & S @ HIOT SHgelldl &
(A) FHT HIOT

(B) feahurd

(C) grFarhrg &1 &1 &ifdst gesh

(D) JTHTEY THeA hloT



The angle between magnetic meridian and geographical meridian is
called

A) angle of dip

(A)

(B) declination
(C) horizontal component of magnetic field
)

(D) apparent angle of dip

24. Teh 3IHATST oI & A oo T ghdl AT 20 cm JAT o/ & eIy
I dcislieh 1.5 8| ofF & Bl gl §

(A) 20 m
(B) 1/20 m
(C) 20 cm
(D) 1/20 cm

The radius of curvature of each surface of a biconvex lens is 20 cm and
the refractive index of the material of the lens is 1.5. The focal length of
the lens is

(A) 20 m
(B) 1/20 m
(C) 20 cm
(D) 1/20 cm

25. Ueh & dWISET & Solaclad adT WIele & dlaT-ar siifdes Ty gae gref 2
(A) a1

(B) it

(C) @aar

(D) shIvfT o



For same wavelength of electron and photon, which physical quantity will
be same?

(A) Velocity
(

(C

)

B) Energy
) Momentum
)

(D) Angular momentum

26. AP AT 7 FAch & F g
(A) =gt 1 afd Heq T
(B) =it &hr arfey e s
(C) sarelar #r aifd 7 FaT
(D) Selargiail T T ot ahieTm

The function of moderator in nuclear reactor is to
(A) Slow the speed of neutrons
(B) Fast the speed of neutrons
(C) Slow the speed of electrons

(D) Fast the speed of electrons

27. p-9hR & AHATH & AT IRy ded & &9 & G297 fohar Srar @
(A) SNTeT

(B) foeay

(C) 3mffareh

(D) IEPRH



The impurity element used for p-type semiconductor is
A) Boron

C

(A)

(B) Bismuth

(C) Arsenic
)

(D) Phosphorus

28. 3MAS & 39T fHAT ST B
(A) Jatis & e

(B) &relsh &I g

(C) Figorex Fr e

(D) fCseahRT dr RE

Diode is used as
(A) Amplifier

(B) Oscillator

(C) Modulator
(D) Rectifier

29. 6 PF OTRAT & ol IR 3Telet §| 3eieh GaNT UIcd geIdd Td
3T ae eTRar gidr &

(A) 3 uF, 12 pF
(B) 2 pF, 12 pF
(C) 2 pF, 18puF
(D) 6 pF, 18 pF



Three capacitors of capacitance 6 pF are available. The minimum and
maximum capacitances obtained are

A) 3 pyF, 12 pF

(A)

(B) 2 pF, 12 pF

(C) 2 uF, 18uF
)

(D) 6 uF, 18 WF

30. Ueh GcATdcl YRT &7 FHERLOT | = 60 sin 100 nt H URT & FHel AL T
T AT BIAM.

(A) 602
(B) 30
(C) 100

(D) Y=

The root mean square (r.m.s) value of alternating current equation | = 60
sin 100 mt is

(A) 602
(B) 30
(C) 100
(D) Zero

31. L-R 99y &T gfdemer gidr g
(A) R? + »?L?

(B) R + wlL

(C)VR + oL

(D) VR? + w212



The impedance of L-R circuit is

32. Teh gl YURMETE! 9 H BeAr g dur arT 3mEl Y & Sl g1 gEeh
YEShIT JTEOT g ST

(A) 3mem
(B) T
(C) e
(D) 3ot & P ot

The radius of a circular current loop is made double and the current is
made half. The magnetic moment of the loop will become

(A) Halved
(B) Doubled
(C) Four times large

(D) None of these

33. T TIh- FUSeN HT FTANRhed 5 oI &1 THY dgcl URT 2 AS” &I ex &
¢ W1 &1 9 Fusen & 9Ra fegd awed ao grem

(A) 2.5 V
(B) 5 V
(C) - 10 V
(D) 10 V



The self-inductance of a choke coil is 5 henry. The current through it is
increasing at a rate of 2 AS™'. The self-induced emf in the choke coil will
be

(A) 2.5 V
(B) 5 V
(C) - 10 V
(D) 10 V

34. gl FT gFahY 3T
(A) 8.0 JT

(B) 11.5 JT

(C) wJT

(D) 8.0 x 10% JT~

Magnetic moment of the earth is
(A) 8.0 JT

(B) 11.5 JT

(C) mJT!

(D) 8.0 x 10% JT~

35. faegd grahig et & faegdig aRar aUr ey T & ST FHelleck
giar &
(A) m

(B)



The phase difference between electric wave and magnetic wave in the

electromagnetic wave is
(A)
(B)
(©)
(D) Zero

wld s F

36. 59 yahrer W AR 9 & o @ g o1 fer sme o Bkt dr Az
(A) et &

(B) &l &

(C) 3maRafda e @

(D) $1# & FI5 el

When the distance between source of light and screen is increased, then

fringe width

(A) increases

(B) decreases

(C) remains same

(D) none of these

37. =T afshadar =1 A gl
(A) MeV
(B) Y

(C) a.m.u.

(D) STeT

o



The unit of radioactivity is

38. rafaf@a & ¥ Fadr IUa-477dT TEd SAEr gy § 2
(A) a-feRoT

(B) B-fenzor

(C) y-feheor

(D) Fas TRt

Which of the following has the highest penetrating power?
(A) a-rays

(B) B-rays

(C) y-rays

(D) Cathode rays

39. TV 98RvT & fov fra 3ngfd oura 1 391er gidr & 2
(A) 30 Hz - 300 Hz

(B) 30 kHz - 300 kHz

(C) 30 MHz - 300 MHz

(D) 30 GHz - 300 GHz



Which range of frequency is used in TV transmission?
A) 30 Hz - 300 Hz

C

(A)

(B) 30 kHz - 300 kHz

(C) 30 MHz - 300 MHz
)

(D) 30 GHz - 300 GHz

40. ey oY RieA & aof fAeiaor ear AeR e &
(A) 39 HIOT T

(B) r=H & derdl T yohfad W

(C) BsH & 39adel T W

(D) Rrsa HIoT &Y

The dispersive power of a prism depends on
(A) Angle of incidence

(B) Nature of material of prism

(c) Refracting angle of prism

(D) Angle of prism

41. R fopar & farw 3maeTss gl
(A) 3T a9

(B) rcxrarTes

(C) 3=3 g™

(D) "&aT gRads



LASER action needs
(A) High temperature
(B
(C
(D

)
) Semiconductor
) High pressure
)

Number inversion

42. JeRT 3GTIEY Tl § Fifh T§ Yol el §
(A) g

(B) gaor

(C) cafdenor

(D) faad=

Light is a transverse wave because it shows
(A) Reflection

(B) Polarization

(C) Interference

(D) Diffraction

43. v IsAr waeafaw (21°Bi) @1 3y I3 5 & &1 20 S & &g fawl
I AT @1 faafed 37er ghem

(A) 5

(B) -

(C) :

(D) —

16



The half-life of a radioactive isotope (?'°Bi) is 5 days. The fraction of the
nuclei undecayed at the end of 20 days will be

Z

—~~ —~~
O
N— N—"

o Ullm e N

—

O
N
> |
[e)}

44. Y ML & T eI Tof Ud TRcdlT Fell & 3T et & @ g
¥ () H g &7?

(A) 10%
(B) 10%
(C) 10%
(D) 1

The ratio of electric force and gravitational force acting between two
charges is in the order of

(A) 10%
(B) 10%
(C) 10%
(D) 1

45. g AT ‘Q’ A AAarer 3@ & ST H Te HGUT ‘g I@T ST ar AL
% 8 HAEAT H Aol & v ‘q° &1 AT gem



A charge ‘q’ placed at the centre on the line joining two charges ‘Q’ will
be in equilibrium if 'gq’ will be equal to

(A) 2
(B) -2
(C) —4¢
(D) +2

46. facgdrr gfaea 3mget P ua faggd & i digar E § & o $or &
AT fohcetr g1 o6 gfaya R aregaeyr fufa # @ 2

(A)
(B)
©) =
(D) 0

What is the angle between the electric dipole moment P and the electric
field strength E when the dipole is in a stable equilibrium?

(A)
(B) m

47. AFAfIf@a # @ Sia #Hifas o afger 2



Which of the following physical quantities is a vector?
(A) Electric flux

(B) Electric potential

(C) Electric potential energy

(D) Electric intensity

48. @ a3 Y4 = 4sinwt TF Y, = 3coswt T 3cUeed cATAHIOT & TATH HI
FEH Al gl &

(A) 7

(B) 5

(C) 1

(D) 25

The value of maximum amplitude produced due to interference of two
waves given by Y = 4sinwt and Y, = 3coswt is

(A) 7
(B) 5
(C) 1
(D) 25



49. IR & YFahlT Foll Geled HT G &

(C) %2

BZ
B
4mp

(D)

The formula for magnetic energy density for a solenoid is

(A) &

210

(B) —

210
(C) L
(D)

B
4mp g

50. 40 G#T BlHE g FT 3T o Td 20 GHT Blehd gl T Ao o F
U H &l SoIoh FAISTT dT &THdT SRee 7 §

(A) 2.5

(B) -2.5

(C) 7.5

(D) -7.5

A convex lens of focal length 40 cm and a concave lens of focal length
20 cm are in contact. The power of their combination in dioptre is

(A) 2.5
(B) -2.5
(C) 7.5
(D) -7.5



51. a0 fT geaT T HROT gl

The reason for the phenomenon of interference is
(A) Phase difference

(B) Change in amplitude

(C) Velocity change

(D) Intensity change

52. Yfad YT 3cUeel A & TAT fohdepr vgard fomar STar g 2
(A) fFave s &1 Do

(B) NaCl &1 =a

(C) rfer MisH

(D) sTg=H

Which is used to produce polarised light?
(A) Prism of flint glass

(B) NaCl prism

(C) Nicol prism

(D) Biprism



53. —| forgerT Tclieh 72
(A) sraTs
(B) <rgw
(C) p-crsd
(D) gIforex
—| is the symbol of
(A diode

(B) n-type

(C) p-type

(D) transistor

54. TifoFeX & FaeleT IOTH H FHE g
(A) Ao

(B) TP

(C) 3#

(D) IS $FIG el

Unit of amplification factor of transistor is
(A) volt

(B) ampere

(C) ohm

(D) no unit



55. fol 7 ¥ SIA-HT deh IR Hdollelsh deh GaN § ?

Which one of the following logic gates is universal logic gate?
(A) OR

(B) AND

(C) NOT

(D) NAND

56. UHF 3 hr aidr urg: &a e gidr & 2
(A) g

(B) 37Tl axar

(C) &g awT

(D) 3t=dfker ar

Waves of UHF frequency are generally transmitted as
(A) ground waves

(B) sky waves

(C) surface waves

(D) space waves



57. @ fdegd 3maeit & & eelearel dof @l HAfEd wedrel @ae @0 wer

The law, governing the force acting between two electric charges known
as

(A) Ampere's law
(B) Ohm's law
(C) Faraday's law

(D) Coulomb's law

58. =g 3MAY & FRUT r g W faegd AT F AT
(A) 1 & ITHACTAC BTl &
(B) r & SYSHHAITH BT &
(C) r* & JhaAeTaTel g &
(D) r* & SYchATIIT EIeTT &

The value of electric potential at a distance r from a point charge is
(A) proportional to r

(B) inversely proportional to r

(C) proportional to r?

(D) inversely proportional to r?



59. RRHT TToleh & Hagel a9 (Vq) dUT IRNT faegd &7 (E) & &9 #@9w §
(A) Vg E

(B) Vyox VE

(C) Vg4 o E?

(D) Vg « VE

The relation between the drift velocity (V4) and applied electric field (E)
of a conductor is

(A) Vg x E
(B) Vg VE
(C) V4 « E?
(D) Vg4 « VE?

60. 64 FHEYT ¢ fFAH JAs & a1Rar 5 pF &, Ao Tk 937 dg Felrd
g1 §9 g @ aTiRdr 241 gref?

(A) 25 uF
(B) 4 uF
(C) 164 uF
(D) 20 uF

64 identical drops each of capacity 5 uF combine to form a big drop.
What will be the capacity of the big drop?

(A) 25 uF
(B) 4 uF

(C) 164 yuF
(D) 20 uF



61. fasrgardy & FEad: 41 A9 STl & ?

What is mainly measured by potentiometer?
(A) Current

(B) Resistance

(C) Potential difference

(D) All of these

62. 3R & AR & i & g darg STl §, a6 3oTeht degd Tt Fai
(A) ger &

(B) Secil &

(C) &€ Hhcll & IT 5 Hehell &

(D) §HTST TGl B

If the distance between the two charges is increased, then the
electrostatic potential energy of the charges

(A) decreases
(B) increases
(C) may increase or decrease

(D) remains the same



63. ar 9foITr R ©d 2R & U fagga a9y & AolishA H st e 1 R
U7 2R H 3cUeet AT Fl I Heqare gram

Two resistors R and 2R are connected in series in an electric circuit.
The thermal energy developed in R and 2R will be in ratio

(A) 1:2
(B) 1:4
(C) 2:1
(D) 4:1

64. Teh M SUUT T el F a7 &A1 S0em §, SEh Bl gl
(A) T Sl

(B) ¢ Sl

(C) THT Tgal

(D) 3oTH & HIs g

A spherical mirror is immersed in water. Its focal length will
(A) decrease

(B) increase

(C) remain same

(D) none of these



65. qUT 3TedReh Wiadel 1 [EAUfd & TRIacel Juieh HT AT g

A) 0.5

(A)
(B) 1
(C) 0

(D) o

The coefficient of reflection for total internal reflection will be
(A) 0.5

(B) 1

(C) 0

(D) oo

66. aid gueRll ganr =1 3ifds gfafass giar &
(A) Freafeesh T gE&d HT 39eT Joal

(B) Freufeeh U q&q Hr 39T e

(C) arEdideh Ud & T 3JeT e

(D) =18 & I =gl

The final image formed by a terrestrial telescope is
(A) virtual and inverted compared to the object

(B) virtual and erect compared to the object

(C) real and erect compared to the object

(D) none of these



67. fore L-C-R 9RuY & 3ifaic 7 RUfa & NI dteest qam anm & &g
FellecR BT &

For resonance condition in any L-C-R circuit, the phase-difference
between applied voltage and current is

(A) ©

B) 3

(C) 3
(D) zero

68. Ueh ITURN Ce@hEFR I Efacide FUs H URT & A TUHb FUSCN
dr JolelT H BT &

(A) ST

(B) &H

(C) e

(D) =18 & I =gl

In step-up transformer, the value of current in secondary coil compared

to primary coil is
(A) equal

(B) less

(C) more

(D) none of these



X-rays are

(A) moving electron

(B) moving positive ion
(C) moving negative ion

(D) electromagnetic waves

70. g e ATeTH & HdTd # AYUT e Reh Wdcle & folv #ifeden Hior
30° @I, ar ATETH H YohIr ol AT g

(A) 13 x 10® /&
(B) 1.5 x 10° #H/aA
(C) 6 x 10® =&

(D) 4.5 x 10® /&

The critical angle for total internal reflection of a ray from any medium to
vacuum is 30°. Then velocity of light in the medium will be

(A) 3 x 10° m/s
(B) 1.5 x 10° m/s
(C) 6 x 10® m/s
(D) 4.5 x 10® m/s



us / SECTION B

o 3T YRaT / Short Answer Type Questions
9o HEAT 1 ¥ 20 o 3907 § | gl 10 weal & 3R & 9@+ & fow 2
3 FuRa &

Question No.1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks:
1. WA & SR Alsel &I al HAA FT Jead@ |

Describe the two shortcomings of Bohr model of atom.

2. 35 IW A AR FrahT 81T B H T GAraRIT FoT i aifder qF i 3R
thehel T 3T Fel ol feomm aram gieft 2

In a vertically upwards magnetic field B, positively charged particle is
projected horizontally eastwards. What will be the direction of force on
the particle ?

3. o T A Fo GI&T0T fAcyid &1 9reled &dl §, A

Lenz's law follows the law of conservation of energy. Explain.

4. BIET Ul AT § ? 38 & 39N & fory|

What is photo-cell ? Write down its two applications.

5. Tsh YfsANFea yerd &1 &7 fAgaier 5.2 x 10° uf a¥ §| 3&hr HEy-3mg
T grafr?

The decay constant of a radioactive substance is 5.2 x 10° per year.
What is its half-life?



6. ¥ A Fa1 § ?

What is Curie law?

7. TS T ‘o’ TF ‘P WY FAT § ? 398 4T J9Y g ?

What are ‘o’ and ‘B’ parameters of transistor? What is their relation?

8. grafAs 3N gfachas oty # 3R TUse Y|

Differentiate between primary and secondary rainbows.

9. FeAC $r HEYT AT fhe FEufa & ¥ g ?

Under what condition will the magnifying power of a microscope be

maximum?

10. st SfEaT FAT § ?

What is carbon dating?

11. 1.5 379dcelieh dTel 3del o Hl 3del & AIacelieh arel d<el # I@T SATT|
gl 39 ATEIH F oF H Blhd gl fAahrel|
A convex lens of refractive index 1.5 is kept in a liquid medium having

same refractive index. What is the focal length of the lens in this

medium?

12. NOR ©d NAND 3¢ &1 Acgdr ARl J27 glerde e ford|

Write down truth table and Boolean expression for NOR and NAND
gates.



13. YFEGhIT ITEOT I IRATVT | 3T S.|. ghrg T faar ford|

Define magnetic moment. Write its S.l. unit and dimension.

14. 5 @ Bar & alted W 31.41 pC 374 g1 3M7ALY & IS Eeled I 0T
|

A sphere of radius 5 cm has a charge of 31.41 uC. Calculate the
surface density of charge.

15 Yehlel & ATAIUT &l 39T & qd ford|

Write down two necessary conditions for interference of light.

16. graehld &1 & Jelfeer aifaeiier 3maRIT sor @1 At FHar g ?

What will be the path followed by charged particle moving along

magnetic field.

17. A3 1 aRNT | g8 JhRT 1 fad|

Define modulation. Write its types.

18. fohdl TU1eT W g2l & Yraehl &1 &M &ifdsl Tesh $hh FTdltR uceh &
V3 T[T 81 0 T W AT HIOT HT AT FAT R ?

The horizontal component of earth's magnetic field at any place is /3
times its vertical component. What will be the value of angle of dip at
that place?

19. ¢IRT Odcd T & ? faa9ar |

What is current density ? Discuss.



20. TuRT & g1Rar foreT ) aral 9T AR a=xdr § 2

On what two factors does the capacity of a condenser depend?

&rer 30 99 / Long Answer Type Questions

T TEAT 21 ¥ 26 ST 3a0T T § | fheel 3 U2l & 3 & | A+ &
faT 5 37 AuRT ¢ :

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 3
questions. Each question carries 5 marks:

21. fhdT arere 1 9TRAr & 39 47 FHASIA ¢ ? SolellR TR I arikdr
T eTSTh e |

What do you understand by capacity of any conductor? Find an
expression for the capacity of a cylindrical condenser.

22. [P & [t & o gar gEsnv| s [AEt #1396
gareral
fSrst & cfelel &I 3aedT gred |

State and explain Kirchhoff's laws. Applying these laws, obtain the
balanced condition of Wheatstone bridge.

23. Ueh oo T GaRT Wilelrd gyeRlt i Tl vd foham & aule Y| S8
TG &THAT Sl 0T Y|

With neat diagram describe the construction and working of an
astronomical telescope. Find its magnifying power.



24. L-C-R yearadt URT Aot a9y & 37ef+1le & v e foerel| 3refe
AR & AT eheteh grod |

Derive the condition for resonance in the L-C-R series alternating current

circuit. Find the expression for resonant frequency.

25. P-N SferleT S/IIS & fohdl §HSC qul oier fgseahll &1 aRuy di va
s fohaT FHSTT|

Explain the working of P-N junction diode. Draw the circuit of full wave
rectifier and explain its working.

26. 9 AW F AT T “= (u- (- ) T R, T T F 3
AT E

For a thin lens find the formula Ir_ (=1 (LR— LR), where the meaning
2

]
of symbols is general





